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Read this first:

1. Flease anzwer in the answer sheet aceording o the sequence af the test ftems,
2. Use the following abbreviations: S=sentence; NP=noun phrase; N noun; Adj=adjective,
VP=verb phrase) V= verh, Adv=adverb; PP=prepositional phrase; Prep=preposition.

1. Chouse the most appropriaie answer, 50%

1. When two sounds do not contrast and (hus become varianis of the same phoneme, they are
called (A} minimal pairs (B} tokens (C) phoncs ([3) allophones.

2. When [s] comes before [j] such as in miss you, itis usually and pronounced s
1. {A)labialized (B) dentabized (€ palatalized (D7) velarized.

3. The fact that English ailows three consonants in the word-initial position is stated in (A)
allophonic statements (B} phonemic statemets () phonotactic statements (C)
morpholopical statements.

4. Whether the English plural 5 should be pronounced as /87 or /2 is determined by {A) the
voicing of the following sound (B) the voicing of the preceding sound (C) its place af
artivulation ([} its manner of articulation.

5. Which ol the following pronutcistions would not be an English word? { A) fknow] {BY [blaft]
(C) [spruks] (D} (freln]

5. The phrase Fight housekeeping (s pronounced with primary stress on the (A} first syllable (B)
second syllable (C) third syllable (D) fourth syllable.

7. The nasality of a sound is determined by the maising or lowering of the £A) vebum {13} bard
pelate (C) glotts {17) nasal cavity.

8. A glonal stap is fortned when (A) the 12eth are closed (B the lipg wre closed () the vocal
cordy are clozsed (D) the velum iz closed.

% The first min inconsistent is probably produced with {A) bilabial cantact {B) labindental
contact [} alveolar contact () velbir contact.

10. The first scumd in Mandarin "#" is produced in the {A) bilabial region (B) alvenlar region
{C} pharyngeal regrion (T} glottal region.

11, The word becense can be considered as a (A) bound morpheme (B) derivational morpheme
(C} function word (I content word.

2. How many function words are thete in the scatence The old man sai on q chaiv and told
thenr fefes af woe? (A} Four (B) Five () Six (D) Seven.

13. Which of the following words contains an "adjective marker™? (&) sefefen (B soffen (C)
degper (D) blacken.

14. The 5 in cafs is a (A) derivational morpheme (B) sterm () monornorphere (1 bound
morphene

13, Which of the following words is furmed by clipping? (A) D7 (B) readable {C) hahypsic (1)
HUTEA .

16. The morpheme on which cther morphemes ¢ean be added to form a larger unit is called {A)
base {B) bound morpheme (C) free merpheme () allix.

17. The fermation of tefethon frotn tefevision and marathon is a case of (A enmpending (B
blending {C) clipping {D)) back-formation.

8. Which ¢f the following makes up the largest part of the vacabulary? (A) inflectional affixes
(B} denvational affines {C) funetion words (D) content words.
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The formation of rainbew From rain and bow is x casc of (Al compounding (B) blending ()
clipping (D) back-formation.

How many AFFIXES are there in the word irresporsthie? (A) 1 (BY 20C) 3(D3 4

We label the syntactic wee diagrams because (A) they look berter that way ([ the tree
diagrams are hicrarchical (C) word order is importang (D) we can then show the categoty of
each constituen,

When two sentences share the same deep structure, we say (he sentences anc (A} amhiguons
(B) synonymous (1) meaningful (D) ditferent.

Which of the following is NOT a constituent of the sentene J gave che girl my redler skarev?
(A} roller skates (B) the girl (C) ! geve (D) None of the above (i e, they all are
constituents of the sentence)

Which of the following part is embedded in the sentence £ mer the marn WO You felked
bt vesterdgy? (A} mer (B)me! the man (L°) whom you tolhed about vesterday (1)
falked aboul.

. Which of the folluwing sentences contains a discontinuaug constituent? (A § never gave my

hopes up. (B) The boxer knocked his cpponend aul of the ring. (C}Jokn gave hiv hrother an
apple. (1Y) f rook him for his brother.
Fhe fact that *Jofer cried the baby is ungrammatical is accownted for by {A) co-occurrence
restoclion (B} phrase strpeture mle (O lexicon {D} pragmatics.
Which of the following would NOT be 2 proper phrase structure nale of Foglish? (A} 5=
NPVE (BYPP = Prep NP (CVNP = AT NI VP — NP V
Which of the following phrases can be generated by the rules:

VP — V NP (Adv)

NP = An {AdjY N
(A) Sew ugly ducktings walking (B) Hit a man slightly (C) Talked abowe a beautiful girl (10
Ran through the garden quickly

- The logival subject for exercive in the sentence The regm promizsed the coackh (o exeroe

during vacation is {A) lhe team (B} the coach (C) vacution (D) not specified in the sentehee

. The structural subjcet for the sentence The feam promized the coach fo exercise curing

vacatton is (A) the team (B) the coack {C) vacation (TH not sporified in the sentence.

. The word head can be used to refer to part of a bewdy and the chicf officer of an organization.

This use is called {A) homonyroy (B) synonymy (C) palysemy (D) homography.

- The word fead, pronounced [lid], s a verh, while another word with the same shape,

pronounced [led], is a kind of metal, These (wo words thus share a relationship which we
call {D) homonymy (BY homography (C) synonymy {A) homophony.

The: words feer and fear are proncuneed altke. They share a relationship which we calt (A}
homonymy (B) synonymy {C) homagraphy (1) homophony.

Which of the following sernamtic features can he used to differentiate the meanings of man
and ben/? (A) Human (B) Male () Adult (D) Animate.

Which of the following seranltic faalures is shared by sovt and rooster” {A) Human (&)
Abatract (C) Young {D) Male.

The use of a short form, or proform, in place of 2 longer expression is called (A} mctaphor
(H) anaphora (C) ambiguity (D'} paraphrase.
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37, Which of the following sentences cobtains a LEXICAL asmbiguity? (&) They kated the
shooting of the Runters. (B The korse is ready to ride. (C) The Rabiy married my sisier. (T2
The Emelish history tegoher is having fer teq.

38 The znlonymous pair pass-fiaif are (A) a gradable pair (B) a complementary pair ({7
relationat opposites (1) nol related.

39 Which of the following sentences 15 anomalows? {A) Dark green leaves rustie furicusly. (B)
My brother is vz only child (C) ! dave van o Sfep over this lime. (T3 The fomb 5 too Bt o
e,

4t [n relation to arimal, the term tiger is (A) 2 hvpomyn (B3 2 synorvm {C) an antenym (D) &
by permin,

41. When words in related languages developed from the same word o the prolo-language,
they are (A} proto forms (B) constituents (C) cognates (D) correspondences,

42. Which of the foltowing Lalin words most probably means farker? (Obsarve the initial
sound) (A) pater {B) planie () decem ([ kostis

43, Which of the following forms, all meaning three in ditferent languapes, is the most
probably a form of an Inda-European language? (A} fin {B) ghorbar (C) san (IN
fress,

4. Which of the follewing sound changes was involved which results in the vowel altermation
between leuve-left? (A) vowe] shift {B) abiaut (Chumlant (D) srong verb conjupation.

43, Whach of the following pairs of sounds does NoT show alternation in English? (A [f-v] (B)
fs-z} €C) {68} (D) [k-g)

&5, Mosl of the modern Eastern Furopean langoages such a3 Russian use (A cuneiform (B3
Roman alphabet {C) Cyrillic alphabet {10 Greek alphaber.

4T, The carliest fomm of alphabet was nsed by [A) Egyptians (B Sumenans () Greeks (D)
Romans.

48. Which device is used most frequently in English when conventional letters are not
appropriate to represent 4 new sound? (A) new Letter symbol (B ligature () diacritical
marks (£} digraph

49, In Old English, the sound sequence |kw] was spelled as (A) <kow= (B) <cw= {C] <ku= (D)
“gqu>

3. Hovw was the word wnder spelled in Middle Enghish? (A uneler (R vmeder () vader (D))
wrRger

11. Fiil the folluwing blanks with appropriate words. 20%

1. The Old English letter *}b:‘ was later reptaced by the digraph (17, while the Odd
English digraph <sc™= was later replaced by the digraph i) .

i The onits that make up a semence areits {3 “Fhe structure of 1 sentence can be
represented by a trec diagram. A gee diagram not only shows the linear order of the parts of
the sentenoe but also the (4} struehme because the levels ol the units and subunits are
represented,

3. [f a verb ig limited 1o oecur with some other clements such as an object, this limitation is
calleda {3 _ .

4, _ {(6) phonetics deals with how speech sounds are produced.

1. When both lips are involved in the pronunciation of = sound, the sound iscalleda (7).
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. In the English word futton, the vonwe] in the second syllable is usually droppad, the [1] is
replaced bya {8}  stop, and the nasal |n] assumes the syllabic stats.

7. The U iny buiter is produced os a (9} because il comes between two vowels, the first of
which 15 stresscd.

8. The difference between [bj and [p] isthatof (10} whila the difference hetween |p| and

{ptlisthatol _ (F1} .
9. Prefixes and suffixes are added 1o the (12} and  (13)  of Enpglish words,

respectively, to form new words.

10. The word edit is formed after ediror has been ased. This is an exzmple of (ldy .
11. Fill the nodes o the following tree struchire with proper labels:;
5

NP 15

/N P —
ATt M LY NP 16
| AN ?‘f

| |

Her  father brought a shotgon 1w the wedding

12 _ {7}  coarticulation makes a sound more like the one preceding it The pronunciation of
ithe English word _ (18}  has sach a proeess,

13, (19}  coartculaton makes a sound more [Ke the one lellowing il. The pronunciation
of the Enghshword (200  has such a process.

UL Each of the following sentences is ambiguous in at least two ways; thal is, ach sentence has
at least two meanings. Phsambiguale, or make the meanings clear, by paraphrasing the
sentences ot interpreting the meanings. (Where there are more than two meanings to the
sentence, only two are required. ) 10%

E.g. Flying planca can be dangerous.
A} Planes wiich arc flying can be dangerous.
B [ van be dangerous [or one to fly planes.

1. They are moving sidewalks,
A
B

2. That long drill iz boring.
A
LEN
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3. Becky left directions for 1ack to follow.
A
B.

4. They can fish for a living.
A
i1
3. The principal wild the teachers to stop smoking.

h
B.

[¥. Cxplaim the dillerences between milectional and denvanonal affixes. 5%
¥. Describe the differences between "prescopuve grammar” and "desenptive grammar”. 5%
VE What does it mean when we say thal we do not actually uticr phonemes? 5%

V1L Explain why the letter <w> 10 English is read as ['dablju) instead ol |'dablvi] (unlike in
French). 3%




